CORRECCIO 3r CONTROL B1B

1. Resol les equacions segiients:

Q)  xY—16  2-3x
3 YT T3 T3
=16 3x _2-3x ¥’
3 33 3
x’=16 — 3x = 2—3x—x"
2x° =18
=9
x==3
b) —x*=4x*+45=0
t=x"
—17—4t+45=0
'+ 4t—45=0

_ —4+16+180 —4+196 —4+14

2 2 2

t1=52x2=5 —x=+\5
t,=—9= Noté solucio
2. Resol sense utilitzar la formula:

a) —9x’+81 =0
—9x* =—81

X =9=3x=+3

b) (9x—27) =16

V(ox—27) = +4

Ox+27 = +4
9x—-27 =4-9x = 31 —>x=%

9x—=27=—4—-9x =23 —>x=%
9)
—-x’+9x =0
x(=x+9)=0
x=0
—x+9=0->—x=-9->x=9
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3. Resol:
a)

Vx+2 = x—4
x+2 =(x—4)2
x+2 = x"—8x+16
x*=9x+14=0

‘= 9+v81-56 _9+5
2 2

x,=2

X,=2 noéssolucio —2#-=2

b) Jx=2=Vx+5-1 Comprovacio: 11—2=4—1

x+2=(Vx+5-1)

x+2=x+5-2Vx+5+1

—8=—2Vx+5
4=vx+5

x+5=16—-x=11
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Comprovacio: x,=7 sique éssolucié —\T+2=T7—4
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